a(0 @) (raqd)

Ratio

SICEWATL

o p/p.)

=
<

=
<
N

m

.........

H1-

il

|
w

-2

-1

0 1

2

3

TP n (PCA to beamline)

,_.
S
L
5

a(d cot(d))

1072

H

<
L
T

o b
3
wll!llll!llll!ll TTTIT

2 3
TP n (PCA to beamline)

CMSSW_CKTPUSU __RECO

[—=— DQM_VUUUI_RUUUU000UT__Global__1

—e— DQM_V0001_R000000001__Global_CMSSW_mkFitPU50LowPtQuad__RECO
—— DQM_V0001_R000000001__Global_CMSSW_LowptQnoclean_ RECO
—— DOQM_V0001_R000000001__Global__CMSSW _looseSC__RECO

1072

[EEN
S
n W

[+ L e

-2

-1

0 1

2

TP n (PCA to beamline)

,_.
<
L

1072f=:: o

1

2

3

TP n (PCA to beamline)

z

oo a,) (cm)

1072

=
S
N

|
w

-2

-1

2 3
TP n (PCA to beamline)



	Contents
	Page 1


